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(1) The horizontal axis (or the x-axis) indicates the matches played during the year
2007. The vertical axis (or the y-axis) shows the total runs scored in each match.
(i) The dotted line shows the runs scored by Batsman A (This is already indicated at
the tOP of the grﬁph) === Hgtsman 4 m— |latsruan 1§
(iii) During the 4th match, both have scored 120
the same number of 60 runs. (This is
indicated by the point at which both L
graphs mect). 100 ,:
(iv) Batsman A has one great “peak” but 9t = f ‘l
many deep “valleys”. He does not 8t p 1y 1A
appear to be consistent. B, on the other :
hand has never scored below a total of
40 runs, even though his highest score is -
only 100 in comparison to 115 of A. : : NG
Also A has scored JER N A
a zero in two matches and in a total of 5 : ' '
matches he has scored less than 40 runs. T
Since A has a lot of ups and downs, B is
a more consistent and reliable batsman.
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The given graph (Fig 14.8) describes

we aisances of a car from a city P at different times

when it is travelling from City P to City Q, which

are 350 km apart. Study the graph and answer the following:
()] What information is given on the two axes?
(ii) From where and when did the car begin its journey?
(i) How far did the car go in the first hour?
(ivy How far did the car go during (i) the 2nd hour? (ii) the 3rd hour?
(v)  Was the speed same during the first three hours? How do you know it?
(vi) Did the car stop for some duration at any place? Justify your answer.
(vi) When did the car reach City Q?
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